C202724

STATE OF NORTH CAROLINA **DEPARTMENT OF TRANSPORTATION** RALEIGH, N.C.

CONTRACT AND

CONTRACT BONDS

FOR CONTRACT NO. C202724

WBS 33448.2.2 BRSTP-0024(50)

T.I.P NO. **B-4090**

COUNTY OF CUMBERLAND

THIS IS THE **ROADWAY & STRUCTURE** CONTRACT

ROUTE NUMBER NC 24 LENGTH **0.227 MILES**

LOCATION BRIDGE OVER CROSS CREEK & APPROACHES ON NC-24 IN

FAYETTEVILLE.

CONTRACTOR HIRI INC DBA HRI BRIDGE COMPANY

ADDRESS 1750 WEST COLLEGE AVENUE

STATE COLLEGE, PA 16801

BIDS OPENED

JANUARY 17, 2012 FEB 1 6 2012 CONTRACT EXECUTION

Vendor 6 of 7: HRI INC DBA HRI BRIDGE COMPANY (9304) Call Order 028 (Proposal: C202724)

Bid Information

County: CUMBERLAND

Address: 1750 West College Ave

State College, PA, 16801

Signature Check: Kent_L._Wible_9304

Time Bid Received: January 17, 2012 12:14 PM

Amendment Count: 0

Bid Checksum: E2872C34

Bid Total: \$4,021,563.79

Items Total: \$4,021,563.79

Time Total: \$0.00

Bidding Errors:

Item Warning: item 0000100000-N (Line# 0001) quantity Item Warning: item 4405000000-E (Line# 0045) quantity Item Warning: item 8147000000-E (Line# 0114) quantity Item Warning: item 8217000000-E (Line# 0118) quantity

DBE GOAL SET 10.0

DBE GOAL MET 10.0

Vendor 6 of 7: HRI INC DBA HRI BRIDGE COMPANY (9304) Call Order 028 (Proposal: C202724)

Bid Bond Information

Projects:

Counties:

Bond ID: 3CR4-EHVJ-JLDH-JHCK

Paid by Check: No

Bond Percent:

Bond Maximum:

State of Incorporation:

Agency Execution Date: 01/09/12

Surety Name: SurePathNetwork

Bond Agency Name: Liberty Mutual Insurance

Company

Vendor 9304's Bid Information for Call 028, Letting L120117, 01/17/12

HRI Bridge Company (9304) Call Order 028 (Proposal ID C202724)

LIST OF DBE PARTICIPANTS

	DBE NAME ADDRESS	WORK CODE TYPE OF WORK	CERT TYPE	AMOUNT		
3765 WB	STAY ALERT SAFETY SERVICES INC	TILE NC 27295	Sub	•		
3080 WB	POST OFFICE BOX 467 , KERNERSV CURTIN TRUCKING & DRAINAGE, INC		Sub		√ arm	
11197 мв	POST OFFICE BOX 38220 , CHARLO MOSES ASPHALT PAVING & REPAIR		Sub		arm	
5796 wb	P. O. BOX 657 , WINTERVILLE, N A-1 PAVEMENT MARKING LLC		Sub	41,391.95		
8504 MB	238 N BIVENS RD , MONROE, NC 2 ABRAM CONSTRUCTION INC		Sub	27,272.50	√ arm	
3230 WB	11320 LEADENHALL LANE , CHARLO HIATT & MASON ENTERPRISES, INC		Sub			
4898 WB	POST OFFICE BOX 1378 , MOUNT A BULLINGTON CONSTRUCTION INC		Sub		arm	≫ .
12921 wв	417 FOXGLOVE LANE , INDIAN TRA CHERRY CONTRACTING INC.		Sup	•		arm
	POST OFFICE BOX 368 , LEWISVIL	LE, NC 27023	TOTAL:	\$402,877.04 10.02%	arm	

Vendor 9304's Bid Information for Call 028, Letting L120117, 01/17/12

HRI Bridge Company (9304) Call Order 028 (Proposal ID C202724)

Miscelleneous Data Info - Contractor Responses:

NON-COLLUSION AND DEBARMENT CERTIFICATION

Explanation of the prospective bidder that is unable to certify to any of the statements in this certification:

Explanation: NOT ANSWERED NOT ANSWERED

NOT ANSWERED

NOT ANSWERED

AWARD LIMITS ON MULTIPLE PROJECTS

By answering YES to this statement, the bidder acknowleges that they are using the award limits on multiple projects. No

It is the desire of the Bidder to be awarded contracts, the value of which will not exceed a total of NOT ANSWERED for those projects indicated herein, for which bids will be opened on (MM/DD/YY)

The Award Limits shall apply to the following projects:

Contract Number

County

NOT ANSWERED NOT ANSWERED NOT ANSWERED NOT ANSWERED NOT ANSWERED NOT ANSWERED

Bid Bond Data Info - Contractor Responses:

BondID: 3CR4-EHVJ-JLDH-JHCK

Surety Registry Agency: SurePathNetwork Verified?: Yes

Surety Agency: Liberty Mutual Insurance Company

Bond Execution Date: 01/09/12

Bond Amount: \$201,078.19 (Five Percent of Bid)

303 of 521 **NCDOT**

State of NC

Dept of Transportation Date:

Revised:

Contract ID: C202724

Project(s): BRSTP-0024(50)

Letting Date: 01-17-12 Call Order: 028 Bidder: 9304 - HRI Bridge Company

Line No.	Item Description	Approx.	Unit Price	Bid Amount	
		Quantity and Units	Dollars Cts	Dollars Ct	
+		men.c			

Section 0001 ROADWAY ITEMS

Αl	t.	Gr	O.	gu

	1110 01001				
0001	0000100000-N MOBILIZATIO	LUMP		LUMP	195,000.00
0002	0000400000-N CONSTRUCTION SURVEYING	LUMP		LUMP	7,000.00
0003	0001000000-E CLEARING & GRUBBING ACRE(S)	LUMP		LUMP	105,000.00
0004	0008000000-E SUPPLEMENTA RY CLEARING & GRUB-BING	ACR	1.000	4,647.00000	4,647.00
0005	0022000000-E UNCLASSIFIED EXCAVATION	CY	14,200.000	12.00000	170,400.00
0006	0029000000-N REINFORCED BRIDGE APPROACH FILL, STATION ************************************	LUMP		LUMP	31,000.00
0007	0036000000-E UNDERCUT EXCAVATION	CY	300.000	10.50000	3,150.00
0008	0106000000-E BORROW EXCAVATION	CY	20,400.000	7.50000	153,000.00
0009	0134000000-E DRAINAGE DITCH EXCAVATION	CY	15.000	16.00000	240.00
0010	0156000000-E REMOVAL OF EXISTING ASPHALT PAVEMENT	sy	4,100.000	9.00000	36,900.00

Check: E2872C34 Page 1

Date: 12-19-11

Dept of Transportation Revised: Project(s): BRSTP-0024(50)

Contract ID: C202724

Letting Date: 01-17-12 Call Order: 028

Bidder: 9304 - HRI Bridge Company

Line		Approx. Quantity and Units		Unit Price	Bid Amount
No.	Description			Dollars Cts	Dollars Ct
0011	0195000000-E SELECT GRANULAR MATERIAL	CY	300.000	30.00000	9,000.00
0012	0196000000-E FABRIC FOR SOIL STABILIZATION	SY	2,050.000	2.00000	4,100.00
0013	0199000000-E TEMPORARY SHORING	SF	730.000	72.35000	52,815.50
0014	0318000000-E FOUNDATION CONDITIONING MATE- RIAL, MINOR STRS	TON	20.000	27.00000	540.00
0015	0320000000-E FOUNDATION CONDITIONING FABRIC	SY	40.000	3.00000	120.00
0016	0594000000-E 24" CS PIPE CULVERTS, 0.064" THICK	LF	96.000	50.00000	4,800.00
0017	0995000000-E PIPE REMOVAL	LF	64.000	16.00000	1,024.00
	1011000000-N FINE GRADING	LUMP		LUMP	63,450.00
0019	1121000000-E AGGREGATE BASE COURSE	TON	1,762.000	23.00000	40,526.00
0020	1330000000-E INCIDENTAL MILLING	SY	380.000	18.00000	6,840.00
0021	1491000000-E ASPHALT CONC BASE COURSE, TYPE B25.0C	TON	260.000	85.00000	22,100.00
0022	1503000000-E ASPHALT CONC INTERMEDIATE COURSE, TYPE I19.0C	TON	250.000	87.00000	21,750.00

Dept of Transportation Revised: Project(s): BRSTP-0024(50) Contract ID: C202724

Letting Date: 01-17-12 Call Order: 028 Bidder: 9304 - HRI Bridge Company

Line	Item	Approx.	Unit Price	Bid Amount	
No.	Description	and Units	Dollars Cts	Dollars Ct	
0023	1519000000-E ASPHALT CONC SURFACE COURSE, TYPE S9.5B	500.000 TON	80.00000	40,000.00	
0024	1523000000-E ASPHALT CONC SURFACE COURSE, TYPE S9.5C	245.000 TON	82.00000	20,090.00	
0025	1575000000-E ASPHALT BINDER FOR PLANT MIX	70.000 TON	620.00000	43,400.00	
0026	2253000000-E PIPE COLLARS	1.000 CY	600.00000	600.00	
0027	2549000000-E 2'-6" CONCRETE CURB & GUTTER	600.000 LF	16.90000	10,140.00	
0028	2591000000-E 4" CONCRETE SIDEWALK	300.000 SY	25.95000	7,785.00	
0029	2655000000-E 5" MONOLITHIC CONCRETE ISLANDS (KEYED IN)	110.000 SY	42.25000	4,647.50	
0030	2759000000-N GENERIC PAVING ITEM CONCRETE CURB	1.000 EA	1,700.00000	1,700.00	
0031	2800000000-N ADJUSTMENT OF CATCH BASINS	1.000 EA	1,000.00000	1,000.00	
	3030000000-E STEEL BM GUARDRAIL	225.000 LF	15.00000	3,375.00	
0033	3150000000-N ADDITIONAL GUARDRAIL POSTS	5.000 EA	20.00000	100.00	
	3215000000-N GUARDRAIL ANCHOR UNITS, TYPE III	4.000 EA	1,250.00000	5,000.00	

Dept of Transportation Revised:
Project(s): BRSTP-0024(50)

Contract ID: C202724 Letting Date: 01-17-12 Call Order: 028 Bidder: 9304 - HRI Bridge Company

Line		 	Approx.	Unit Price	Bid Amount
No.	Description		Quantity and Units	Dollars Cts	Dollars Ct
0035	3270000000-N GUARDRAIL ANCHOR UNITS, TYPE 350	EA	4.000	1,825.00000	7,300.00
0036	3533000000-E CHAIN LINK FENCE, **" FABRIC (120")	LF	300.000	21.00000	6,300.00
0037	3539000000-E METAL LINE POSTS FOR **" CHAINLINK FENCE (120")	EA	25.000	115.00000	2,875.00
0038	3545000000-E METAL TERMINAL POSTS FOR **" CHAIN LINK FENCE (120")	EA	5.000	225.00000	1,125.00
0039	3628000000-E RIP RAP, CLASS I	TON	43.000	50.00000	2,150.00
0040	3656000000-E FILTER FABRIC FOR DRAINAGE	SY	1,149.000	2.00000	2,298.00
	4072000000-E SUPPORTS, 3-LB STEEL U-CHANNEL	LF	97.000	5.74000	556.78
0042	4102000000-N SIGN ERECTION, TYPE E	EA	12.000	65.99000	791.88
0043	4155000000-N DISPOSAL OF SIGN SYSTEM, U- CHANNEL	EA	13.000	5.08000	66.04
i i	4400000000-E WORK ZONE SIGNS (STATIONARY)	SF	853.000	3.95000	3,369.35
	4405000000-E WORK ZONE SIGNS (PORTABLE)	SF	514.000	8.98000	4,615.72
0046	4410000000-E WORK ZONE SIGNS (BARRICADE MOUNTED)	SF	44.000	5.94000	261.36

Dept of Transportation Revised: Project(s): BRSTP-0024(50) Contract ID: C202724

Letting Date: 01-17-12 Call Order: 028 Bidder: 9304 - HRI Bridge Company

Line	r: 9304 - HRI Bridge Compa Item Description	Approx. Quantity	Unit Price	Bid Amount
1.0.	Joseph Person	and Units	Dollars Cts	Dollars Ct
0047	4415000000-N FLASHING ARROW PANELS, TYPE C	4.0 EA	2,015.23000	8,060.92
0048	4420000000-N CHANGEABLE MESSAGE SIGN	4.0 EA	10,131.98000	40,527.92
0049	4430000000-N DRUMS	105.0 EA	46.70000	4,903.50
0050	4435000000-N CONES	64.0	16.09000	1,029.76
0051	4445000000-E BARRICADES (TYPE III)	80.0	18.07000	1,445.60
0052	4450000000-N FLAGGER	56.0 HR	25.00000	1,400.00
0053	4465000000-N TEMPORARY CRASH CUSHIONS	4.0 EA	4,923.86000	19,695.44
0054	4470000000-N RESET TEMPORARY CRASH CUSHIONS	4.0 EA	2,263.96000	9,055.84
0055	4480000000-N TMIA	4.0 EA	15,025.38000	60,101.52
0056	4485000000-E PORTABLE CONCRETE BARRIER	940.0 LF	25.51000	23,979.40
0057	4490000000-E PORTABLE CONCRETE BARRIER (ANCHORED)	700.0	35.61000	24,927.00
0058	4495000000-E PORTABLE CONCRETE BARRIER (DRAINAGE)	180.0 LF	25.51000	4,591.80

Dept of Transportation Revised:
Project(s): BRSTP-0024(50) Contract ID: C202724

Letting Date: 01-17-12 Call Order: 028 Bidder: 9304 - HRI Bridge Company

+	Item	Approx. Quantity and Units		Unit Price	Bid Amount
No.	Description			Dollars Cts	Dollars Ct
0059	4500000000-E RESET PORTABLE CONCRETE BAR- RIER	LF	760.000	15.15000	11,514.00
0060	4506000000-E RESET PORTABLE CONCRETE BAR- RIER (DRAINAGE)	LF	180.000	15.15000	2,727.00
0061	4510000000-N LAW ENFORCEMENT	HR	180.000	35.00000	6,300.00
0062	4516000000-N SKINNY DRUM	EA	64.000	29.44000	1,884.16
0063	4685000000-E THERMOPLAST IC PAVEMENT MARKINGLINES (4", 90 MILS)	LF	341.000	1.00000	341.00
0064	4686000000-E THERMOPLAST IC PAVEMENT MARKING LINES (4", 120 MILS)	LF	3,152.000	1.10000	3,467.20
0065	4695000000-E THERMOPLAST IC PAVEMENT MARKINGLINES (8", 90 MILS)	LF	95.000	3.50000	332.50
0066	4725000000-E THERMOPLAST IC PAVEMENT MARKINGSYMBOL (90 MILS)	EA	8.000	220.00000	1,760.00
0067	4770000000-E COLD APPLIED PLASTIC PAVEMENT MARKING LINES, TYPE ** (4") (III)	LF	690.000	2.00000	1,380.00
0068	4770000000-E COLD APPLIED PLASTIC PAVEMENT MARKING LINES, TYPE ** (4") (IV)	LF	1,323.000	2.25000	2,976.75
0069	4810000000-E PAINT PAVEMENT MARKING LINES (4")	LF	29,984.000	0.20000	5,996.80

Dept of Transportation Revised:
Project(s): BRSTP-0024(50)

Contract ID: C202724 Letting Date: 01-17-12 Call Order: 028
Bidder: 9304 - HRI Bridge Company

Line	Item	Approx. Quantity	Unit Price	Bid Amount
No.	Description	and Units	Dollars Cts	Dollars Ct
0070	4820000000-E PAINT PAVEMENT MARKING LINES (8")	432.000 LF	0.50000	216.00
0071	4835000000-E PAINT PAVEMENT MARKING LINES (24")	340.000 LF	3.00000	1,020.00
0072	4840000000-N PAINT PAVEMENT MARKING CHARAC-TER	24.000 EA	65.00000	1,560.00
0073	4845000000-N PAINT PAVEMENT MARKING SYMBOL	104.000 EA	65.00000	6,760.00
0074	4850000000-E REMOVAL OF PAVEMENT MARKING LINES (4")	11,762.000 LF	0.85000	9,997.70
0075	4860000000-E REMOVAL OF PAVEMENT MARKING LINES (8")	633.000 LF	2.00000	1,266.00
0076	4875000000-N REMOVAL OF PAVEMENT MARKING SYMBOLS & CHARACTERS	25.000 EA	50.00000	1,250.00
0077	4900000000-N PERMANENT RAISED PAVEMENT MARKERS	472.000 EA	6.50000	3,068.00
0078	5255000000-N PORTABLE LIGHTING	LUMP	LUMP	2,500.00
0079	6000000000-E TEMPORARY SILT FENCE	3,370.000 LF	1.85000	6,234.50
0080	6006000000-E STONE FOR EROSION CONTROL, CLASS	225.000 TON	41.00000	9,225.00
1 1	6009000000-E STONE FOR EROSION CONTROL, CLASS	380.000 TON	41.00000	15,580.00

Revised:

Dept of Transportation

Contract ID: C202724 Project(s): BRSTP-0024(50)

Letting Date: 01-17-12 Call Order: 028

Bidder: 9304 - HRI Bridge Company

Line	Item	Approx. Quantity	Unit Price	Bid Amount
No.	Description	and Units	Dollars Cts	Dollars Ct
0082	6012000000-E SEDIMENT CONTROL STONE	465.000 TON	41.00000	19,065.00
0083	6015000000-E TEMPORARY MULCHING	5.000 ACR	750.00000	3,750.00
0084	6018000000-E SEED FOR TEMPORARY SEEDING	200.000 LB	3.50000	700.00
0085	6021000000-E FERTILIZER FOR TEMPORARY SEED-ING	1.750 TON	800.00000	1,400.00
0086	6024000000-E TEMPORARY SLOPE DRAINS	800.000 LF	9.00000	7,200.00
0087	6027000000-N INLET PROTECTION AT TEMPORARY SLOPE DRAINS	10.000 EA	190.00000	1,900.00
0088	6029000000-E SAFETY FENCE	900.000 LF	1.50000	1,350.00
0089	603000000-E SILT EXCAVATION	440.000 CY	14.00000	6,160.00
0090	6036000000-E MATTING FOR EROSION CONTROL	6,500.000 SY	1.42000	9,230.00
0091	6037000000-E COIR FIBER MAT	1,050.000 SY	2.75000	2,887.50
0092	6038000000-E PERMANENT SOIL REINFORCEMENT MAT	1,400.000 SY	4.15000	5,810.00
	6042000000-E 1/4" HARDWARE CLOTH	300.000 LF	4.25000	1,275.00

Dept of Transportation Revised:
Project(s): BRSTP-0024(50)

Contract ID: C202724

Letting Date: 01-17-12 Call Order: 028 Bidder: 9304 - HRI Bridge Company

Line	Item	Approx.	Unit Price	Bid Amount
No.	Description	Quantity and Units	Dollars Cts	Dollars Ct
0094	6070000000-N SPECIAL STILLING BASINS	2.000 EA	500.00000	1,000.00
0095	6071010000-E WATTLE	100.000 LF	3.25000	325.00
0096	6071020000-E POLYACRYLAM IDE (PAM)	25.000 LB	9.00000	225.00
0097	6071030000-E COIR FIBER BAFFLE	240.000 LF	4.50000	1,080.00
0098	6071050000-E **" SKIMMER (1-1/2")	1.000 EA	855.00000	855.00
0099	6084000000-E SEEDING & MULCHING	6.000 ACR	1,600.00000	9,600.00
0100	6087000000-E MOWING	0.500 ACR	100.00000	50.00
0101	6090000000-E SEED FOR REPAIR SEEDING	50.000 LB	5.00000	250.00
0102	6093000000-E FERTILIZER FOR REPAIR SEEDING	0.250 TON	1,000.00000	250.00
	6096000000-E SEED FOR SUPPLEMENTAL SEEDING	150.000 LB	2.00000	300.00
0104	6108000000-E FERTILIZER TOPDRESSING	4.500 TON	800.00000	3,600.00
1 1	6114500000-N SPECIALIZED HAND MOWING	100.000 MHR	10.00000	1,000.00

Dept of Transportation Revised: Project(s): BRSTP-0024(50)

Contract ID: C202724

Letting Date: 01-17-12 Call Order: 028 Bidder: 9304 - HRI Bridge Company

Bidde:	dder: 9304 - HRI Bridge Company										
Line	1	Approx.	Unit Price	Bid Amount							
No.	Description	Quantity and Units	Dollars Cts	Dollars Ct							
0106	6117000000-N RESPONSE FOR EROSION CONTROL	30.000 EA	150.00000	4,500.00							
0107	6123000000-E REFORESTATI ON	0.400 ACR	1,500.00000	600.00							
	 Section 0001 Total			1,484,386.94							
Section	on 0003 WALL ITEMS										
	Alt Group										
	8802014000-E SOLDIER PILE RETAINING WALLS	1,595.000 SF	85.00000	135,575.00							
	 Section 0003 Total			135,575.00							
Section	on 0004 STRUCTURE IT	EMS									
	Alt Group										
	8007000000-N CONSTRUCTIO N, MAINTENANCE, & REMOVAL OF TEMP STRUCTURE AT STA *********************************	LUMP	LUMP	670,000.00							
0110	8035000000-N REMOVAL OF EXISTING STRUCTURE AT STATION ************************************	LUMP	LUMP	90,000.00							
0111	8112730000-N PDA TESTING	2.000 EA	2,500.00000	5,000.00							
0112	8112740000-N PDA ASSISTANCE	2.000 EA	550.00000	1,100.00							

Dept of Transportation Revised:
Project(s): BRSTP-0024(50) Contract ID: C202724

Letting Date: 01-17-12 Call Order: 028

Bidder: 9304 - HRI Bridge Company

Line	Item Description	Qı	Approx. uantity	Unit Price	Bid Amount
<u> </u> +		<u>-</u> :	nd Units	Dollars Cts	Dollars Ct
0113	8121000000-N UNCLASSIFIE D STRUCTURE EXCAVA-TION AT STATION ******* (18+55.00-L-)	LUMP		LUMP	14,000.00
0114	8147000000-E REINFORCED CONCRETE DECK SLAB	SF	20,181.000	22.00000	443,982.00
0115	8161000000-E GROOVING BRIDGE FLOORS	SF	16,345.000	0.40000	6,538.00
0116	8182000000-E CLASS A CONCRETE (BRIDGE)	CY	191.200	900.00000	172,080.00
0117	8210000000-N BRIDGE APPROACH SLABS, STATION********* (18+55.00-L-)	LUMP		LUMP	70,000.00
0118	8217000000-E REINFORCING STEEL (BRIDGE)	LB	27,590.000	1.00000	27,590.00
0119	8262000000-E 45" PRESTRESSED CONCRETE GIR- DERS	LF	2,047.500	220.00000	450,450.00
0120	8364000000-E HP12X53 STEEL PILES	LF	1,210.000	40.00000	48,400.00
	8385200000-E PP ** X **** GALVANIZED STEEL PILES (24 X 0.625)	LF	1,650.000	165.00000	272,250.00
	8393000000-N PILE REDRIVES	EA	30.000	400.00000	12,000.00
0123	8608000000-E RIP RAP CLASS II (2'-0" THICK)	TON	485.000	43.57000	21,131.45

Dept of Transportation Revised: Project(s): BRSTP-0024(50) Contract ID: C202724

Letting Date: 01-17-12 Call Order: 028

Bidder: 9304 - HRI Bridge Company

Line No.	Item Description	Approx. Quantity and Units	Unit Price	Bid Amount Dollars Ct
0124	8622000000-E FILTER FABRIC FOR DRAINAGE	540.000 SY	3.00000	1,620.00
0125	8657000000-N ELASTOMERIC BEARINGS	LUMP	LUMP	27,000.00
0126	8692000000-N EVAZOTE JOINT SEALS	LUMP	LUMP	13,000.00
0127	8867000000-E GENERIC STRUCTURE ITEM CLASSIC CONCRETE BRIDGE RAIL	 462.170 LF	120.00000	55,460.40
+	 Section 0004 Total			2,401,601.85
+	 Bid Total			4,021,563.79

NON-COLLUSION AND DEBARMENT CERTIFICATION

The bidder certifies that neither he, nor any official, agent or employee of the bidder has entered into any agreement, participated in any collusion, or otherwise taken any action which is in restraint of free competitive bidding in connection with this bid, and that the bidder intends to do the work with its own bonafide employees or subcontractors and is not bidding for the benefit of another contractor. In addition, submitting this electronic bid constitutes the bidder's certification of Status under penalty of perjury under the laws of the United States and in accordance with the Debarment Certification on file with the Department.

By submitting this bid, the bidder certifies to the best of his knowledge and belief that he and his principals:

- Are not presently debarred, suspended, proposed for debarment, declared ineligible, or voluntarily excluded from covered transactions by any Federal department or agency;
- b. Have not within a three-year period preceding this proposal been convicted of or had a civil judgment rendered against them for commission of fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a public (Federal, State or local) transaction or contract under a public transaction; violation of Federal or State antitrust statutes or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records; making false statements; or receiving stolen property;
- c. Are not presently indicted for or otherwise criminally or civilly charged by a governmental entity (Federal, State or local) with commission of any of the offenses enumerated in paragraph b. of this certification; and
- Have not within a three-year period preceding this proposal had one or more public transactions (Federal, State or local) terminated for cause or default.

Where the prospective bidder is unable to certify to any of the statements in this certification, the bidder shall submit an explanation in the blanks provided herein. The explanation will not necessarily result in denial of participation in a contract.

Explanation:

NOT ANSWERED

NOT ANSWERED

NOT ANSWERED

NOT ANSWERED

If the prequalified bidder's status changes, he shall immediately submit a new fully executed non-collusion affidavit and debarment certification with an explanation of the change to the Contract Office prior to submitting the bid.

Failure to furnish a certification or an explanation will be grounds for rejection of a bid

AWARD LIMITS ON MULTIPLE PROJECTS

By answering YES to this statement, the bidder acknowleges that they are using the award limits on multiple projects. No

A bidder who desires to bid on more than one project on which bids are to be opened on the same date, and who also desires to avoid receiving an award of more projects than he is equipped to handle, may bid on any number of projects but may limit the total amount of work awarded to him on selected projects by completing the AWARD LIMITS ON MULTIPLE PROJECTS.

The Award Limits on Multiple Projects must be filled in on each project bid for which the Bidder desires protection.

It is the desire of the Bidder to be awarded contracts, the value of which

will not exceed a total of NOT ANSWERED for those

projects indicated herein, for which bids will be opened on

(MM/DD/YY)

The Award Limits shall apply to the following projects:

Contract Number

County

NOT ANSWERED

NOT ANSWERED

NOT ANSWERED

NOT ANSWERED

NOT ANSWERED

NOT ANSWERED

It is agreed that if I am (we are) the low Bidder(s) on indicated projects, the total value of which is more than the above stipulated award limits, the Board of Transportation will award me (us) projects from among those indicated that have a total value not to exceed the award limit and will result in the lowest total bids to the Department of Transportation.

DBE COMMITMENT ITEMS

PROPOSAL: C202724

LETTING: L120117 CALL: 028 VENDOR: 9304 HRI Bridge Company

T.TNE	ITEM	ITEM	IINITT SI	IBCONTRACTOR	SUBCONTRACTOR	EXTENDED
NO.		DESC.		JANTITY	UNIT PRICE	AMOUNT
	GLIDGONEDA GEOD	2765 CMAY AT		any cenurcec	TNO	
	SUBCONTRACTOR: Use Quote: Ye		ERT SAFE	TI SERVICES	INC	
	-					
	0000100000-N	MOBILIZATION		1.000	350.00000	350.00
	4072000000-E	SUPPORT, 3-L		97.000	5.65000	548.05
	4102000000-N	SIGN ERECTIO		12.000	65.00000	780.00
	4155000000-N	DISPOSE SIGN		13.000	5.00000	65.00
	4405000000-E	WORK ZONE SI		514.000	8.85000	4548.90
	4400000000-E	WORK ZONE SI		853.000	3.89000 5.85000	3318.17
	4410000000-E	WORK ZONE SI		44.000 4.000	9980.00000	257.40 39920.00
	4420000000-N 4415000000-N	CHANGEABLE M FLASHING ARR		4.000	1985.00000	7940.00
	4435000000-N	CONES		64.000	15.85000	1014.40
	4445000000-R	BARRICADES (80.000	17.80000	1424.00
	4465000000-N	TEMPORARY CR			4850.00000	19400.00
	4480000000-N	TMIA	EA	4.000	14800.00000	59200.00
	45160000000 N	SKINNY DRUM		64.000	29.00000	1856.00
	4470000000-N		EA	4.000	2230.00000	8920.00
	4430000000-N	DRUMS	EA	105.000	46.00000	4830.00
					y	
	DBE COMMITME	NT TOTAL FOR	SUBCONTR	ACTOR:	√ arm : 154	4,371.92
	DBE COMMITME	NT TOTAL FOR	VENDOR (SubContracto	er)	154,371
					•	•
	SUBCONTRACTOR:		TRUCKING	& DRAINAGE,	INC.	
Will	Use Quote: Ye	S				
0056	4485000000-E	PORT CONC BA	TE	940.000	25.25000	23735.00
	4490000000-E	PORT CONC BA		700.000	35.25000	24675.00
	4495000000-E	PORT CONC BA		180.000	•	4545.00
	450000000-E	RESET PORT C		760.000		11400.00
	4506000000-E	RESET PORT C		180.000	15.00000	2700.00
0000	450000000 H	KUDHI TOKI C		100.000		
	DBE COMMITMEN	NT TOTAL FOR	SUBCONTR	ACTOR:	arm 67	,055.00
		NT TOTAL FOR				67,055.
	SUBCONTRACTOR:		ASPHALT	PAVING & REP	AIR .	
Will	Use Quote: Yes	S				
	6000000000-E	TEMPORARY SI		3370.000		6234.50
	6015000000-E	TEMPORARY MU		5.000	750.00000	3750.00
	6018000000-E	SEED FOR TEM		200.000	3.50000	700.00
	6021000000-E	FERT FOR TEM		1.750	800.00000	1400.00
	6036000000-E	MATTING FOR	SY	6500.000	1.42000	9230.00
	6037000000-E	COIR FIBER M	SY	1050.000 1400.000	2.75000	2887.50
	6038000000-E	PERM SOIL RE	SY	1400.000	4.15000	5810.00
0093	6042000000-E	1/4" HARDWAR	LF.	300.000	4.25000	1275.00
0095	6071010000-E	WATTLE	LF	100.000	3.25000	325.00
					Check: E2872C3	84 Page 15
					CHECK: EZO/ZC3	a rage 10

DBE COMMITMENT ITEMS

LINE	ITEM	ITEM		SUBCONTRACTOR	SUBCONTRACTOR	EXTENDED
NO.	NO.	DESC.	TYPE	QUANTITY	UNIT PRICE	AMOUNT
		TAK TUGO KU		05 000	0.0000	205 00
	6071020000-E	POLYACRYLAMI		25.000	9.00000	225.00
	6071030000-E	COIR FIBER B		240.000	4.50000	1080.00
	6071050000-E	**" SKIMMER	EA	1.000	855.00000	855.00
	6084000000-E	SEEDING AND	ACR	6.000	1600.00000	9600.00
	6087000000-E	MOWING	ACR	0.500	100.00000	50.00
	6090000000-E	SEED FOR REP		50.000	5.00000	250.00
	6093000000-E	FERT FOR REP	TON	0.250	1000.00000	250.00
	6096000000-E	SEED FOR SUP FERTILIZER T	LB TON	150.000	2.00000 800.00000	300.00 3600.00
	6108000000-E			4.500 100.000	10.00000	1000.00
	6114500000-N	SPECIALIZED	MHR		150.00000	4500.00
	6117000000-N	RESPONSE FOR		30.000	1500.00000	
	6123000000-E	REFORESTATIO		0.400		600.00
0088	6029000000-E	SAFETY FENCE	LL.	900.000	1.50000	1350.00
		NT TOTAL FOR	בנושרטי	ŢŢŖ <u>₩</u> ĊŢĊŖ•	√arm. 5	5,272.00
				R (SubContractor		55,272.00 55,272.
	DBE COMMITME	MI TOTAL POR	A FILADOI	((bubconcractor	,	33,212.
DBE	SUBCONTRACTOR:	5796 A-1 PAVI	TMENT	MARKING LLC		
	Use Quote: Ye			THIRITING LLC		
******	obe gaoce. re	.5				
0063	4685000000-E	THERMO PVT M	LF	341.000	1.00000	341.00
	4900000000-N	PERM RAISED	EA	472.000	6.50000	3068.00
	4875000000-N	REMOVAL OF S		25.000	50.00000	1250.00
	4860000000-E	LINE REMOVAL		633.000	2.00000	1266.00
	4850000000-E	LINE REMOVAL		11762.000	0.85000	9997.70
	4845000000-N	PAINT PVT MK		104.000	65.00000	6760.00
	4840000000-N	PAINT PVT MK		24.000	65.00000	1560.00
	4835000000-E	PAINT PVT MK		340.000	3.00000	1020.00
	4820000000-E	PAINT PVMT M		432.000	0.50000	216.00
	4810000000-E	PAINT PVMT M		29984.000	0.20000	5996.80
	4770000000-E	4" COLD APPL		1323.000	2.25000	2976.75
	4770000000-E	4" COLD APPL	LF	690.000	2.00000	1380.00
	4725000000-E	THERMO PVT S	EA	8.000	220.00000	1760.00
0065	4695000000-E	THERMO PVT M	LF	95.000	3.50000	332.50
0064	4686000000-E	THERMO PVT M	LF	3152.000	1.10000	3467.20
		NT TOTAL FOR S				1,391.95
	DBE COMMITME	NT TOTAL FOR V	ENDOR	(SubContractor) .	41,391.
	SUBCONTRACTOR:		NSTRU	CTION INC		
Will	Use Quote: Ye	s				
	0000100000-N	MOBILIZATION		1.000	2000.00000	2000.00
	2549000000-E	2'-6"CONC CU	LF	600.000	16.90000	10140.00
	2591000000-E	4" CONCRETE	SY	300.000	25.95000	7785.00
	2655000000-E	5" MONO CONC		110.000	42.25000	4647.50
0031	2800000000-N	ADJ CATCH BA	EA	1.000	1000.00000	1000.00
0030	2759000000-N	GENERIC PAVI	EA	1.000	1700.00000	1700.00

LINE NO.	ITEM NO.	ITEM DESC.	UNIT TYPE	SUBCONTI	RACTOR Z	SUB UNI	CONTRAC T PRICE	CTOR E	EXTENDED AMOUNT
		NT TOTAL FOR S				r)	arm	27	,272.50 27,272.
	SUBCONTRACTOR: Use Quote: Ye		MASON	I ENTERPI	RISES, I	INC			
0114	8217000000-E 8147000000-E 8867000000-E	REINF CONCRE	SF	2018	31.002		1.81	.910	36711.26
		NT TOTAL FOR S				c)	√ arm:		873.61 41,873.
	SUBCONTRACTOR: Use Quote: Yes		ron co	NSTRUCTI	ON INC				
0037	3533000000-E 3539000000-E 3545000000-E	MET LINE PST	EA	2	5.000		115.00	000	2875.00
		T TOTAL FOR S					√ arm	10,	300.00
	UBCONTRACTOR: Use Quote: Yes		CONTR	ACTING I	NC.				
0108	8802014000-E	SOLDIER PILE	SF	159	5.000		5.58	000	8900.10
		IT TOTAL FOR S)	✓ arm	8,9	\$5,340.
TOTAL	DBE COMMITMEN	IT FOR VENDOR:						or	402877.04 402156.38 MET>

Page: 1 of 9

	Contract Item Sheets For C202724								
Line #	ltemNumber	Sec #	Description	Quantity Unit	Unit Bid Price	Amount Bid			
			ROADWAY ITEMS						
0001	0000100000-N	800	MOBILIZATION	Lump Sum LS	195,000.00	195,000.00			
0002	0000400000-N	801	CONSTRUCTION SURVEYING	Lump Sum LS	7,000.00	7,000.00			
0003	0001000000-E	200	CLEARING & GRUBBING ACRE(S)	Lump Sum LS	105,000.00	105,000.00			
0004	0008000000-Е	200	SUPPLEMENTARY CLEARING & GRUB- BING	1 ACR	4,647.00	4,647.00			
 0005	0022000000-E	225	UNCLASSIFIED EXCAVATION	14,200 CY	12.00	170,400.00			
0006	0029000000-N	SP	REINFORCED BRIDGE APPROACH FILL, STATION ************************************	Lump Sum LS	31,000.00	31,000.00			
 0007	0036000000-E	225	UNDERCUT EXCAVATION	300 CY	10.50	3,150.00			
0008	0106000000-E	230	BORROW EXCAVATION	20,400 CY	7.50	153,000.00			
0009	013400000-E	240	DRAINAGE DITCH EXCAVATION	15 CY	16.00	240.00			
0010	0156000000-E	250	REMOVAL OF EXISTING ASPHALT PAVEMENT	4,100 SY	9.00	36,900.00			
 0011	0195000000-E	SP	SELECT GRANULAR MATERIAL	300 CY	30.00	9,000.00			
0012	0196000000-E	270	FABRIC FOR SOIL STABILIZATION	2,050 SY	2.00	4,100.00			
0013	0199000000-E	SP	TEMPORARY SHORING	730 SF	72.35	52,815.50			
0014	0318000000-Е	SP		20 TON	27.00	540.00			
 0015	0320000000-E	SP	FOUNDATION CONDITIONING FABRIC	40 SY	3.00	120.00			
0016	0594000000-E	SP	24" CS PIPE CULVERTS, 0.064" THICK	96 LF	50.00	4,800.00			
 0017	0995000000-E	340	PIPE REMOVAL	64 LF	16.00	1,024.00			
 0018	1011000000-N	500	FINE GRADING	Lump Sum LS	63,450.00	63,450.00			
0019	1121000000-E	520	AGGREGATE BASE COURSE	1,762 TON	23.00	40,526.00			

Jan 31, 2012 1:58 pm

North Carolina Department Of Transportation Contract Item Sheets For C202724

Page: 2 of 9

		Contract Item Sheets For C20	2/24		
ItemNumber	Sec #	Description	Quantity Unit	Unit Bid Price	Amount Bid
133000000-E	607	INCIDENTAL MILLING	380 SY	18.00	6,840.00
1491000000-E	610	ASPHALT CONC BASE COURSE, TYPE B25.0C	260 TON	85.00	22,100.00
1503000000-E	610	ASPHALT CONC INTERMEDIATE COURSE, TYPE I19.0C	250 TON	87.00	21,750.00
1519000000-E	610	ASPHALT CONC SURFACE COURSE, TYPE S9.5B	500 TON	80.00	40,000.00
1523000000-E	610	ASPHALT CONC SURFACE COURSE, TYPE S9.5C	245 TON	82.00	20,090.00
1575000000-E	SP	ASPHALT BINDER FOR PLANT MIX	70 TON	620.00	43,400.00
2253000000-E	840		1 CY	600.00	600.00
2549000000-E	846	2'-6" CONCRETE CURB & GUTTER	600 LF	16.90	10,140.00
2591000000-E	848	4" CONCRETE SIDEWALK	300 SY	25.95	7,785.00
2655000000-E	852	5" MONOLITHIC CONCRETE ISLANDS (KEYED IN)	110 SY	42.25	4,647.50
2759000000-N	SP	GENERIC PAVING ITEM CONCRETE CURB RAMPS	1 EA	1,700.00	1,700.00
2800000000-N	858	ADJUSTMENT OF CATCH BASINS	1 EA	1,000.00	1,000.00
3030000000-E	862	STEEL BM GUARDRAIL	225 LF	15.00	3,375.00
3150000000-N	862	ADDITIONAL GUARDRAIL POSTS	5 EA	20.00	100.00
3215000000-N	862	GUARDRAIL ANCHOR UNITS, TYPE	4 EA	1,250.00	5,000.00
3270000000-N	SP	GUARDRAIL ANCHOR UNITS, TYPE 350	4 EA	1,825.00	7,300.00
353300000-E	866	CHAIN LINK FENCE, **" FABRIC (120")	300 LF	21.00	6,300.00
	1330000000-E 1491000000-E 1503000000-E 1519000000-E 1523000000-E 2253000000-E 22549000000-E 2591000000-E 2759000000-E 2800000000-N 3030000000-N 32150000000-N	# 1330000000-E 607 1491000000-E 610 1503000000-E 610 1519000000-E 610 1575000000-E SP 2253000000-E 840 2549000000-E 846 2591000000-E 848 2655000000-E 852 2759000000-N SP 280000000-N 858 3030000000-N 862 3215000000-N SP	# 133000000-E 607 INCIDENTAL MILLING 1491000000-E 610 ASPHALT CONC BASE COURSE, TYPE B25.0C 1503000000-E 610 ASPHALT CONC SURFACE COURSE, TYPE I19.0C 1519000000-E 610 ASPHALT CONC SURFACE COURSE, TYPE S9.5B 1523000000-E SP ASPHALT BINDER FOR PLANT MIX 2253000000-E 840 PIPE COLLARS 2549000000-E 846 2'-6" CONCRETE CURB & GUTTER 2591000000-E 848 4" CONCRETE SIDEWALK 2655000000-E 852 5" MONOLITHIC CONCRETE ISLANDS (KEYED IN) 2759000000-N SP GENERIC PAVING ITEM CONCRETE CURB RAMPS 2800000000-B 862 STEEL BM GUARDRAIL 3150000000-N 862 ADDITIONAL GUARDRAIL POSTS 3215000000-N SP GUARDRAIL ANCHOR UNITS, TYPE III 3270000000-N SP GUARDRAIL ANCHOR UNITS, TYPE 350 3533000000-E 866 CHAIN LINK FENCE, **" FABRIC	# Unit 133000000-E 607 INCIDENTAL MILLING 380 SY 1491000000-E 610 ASPHALT CONC BASE COURSE, TYPE 260 TON 1503000000-E 610 ASPHALT CONC INTERMEDIATE 250 TON 1519000000-E 610 ASPHALT CONC SURFACE COURSE, TON 1523000000-E 610 ASPHALT CONC SURFACE COURSE, TON 1523000000-E 610 ASPHALT CONC SURFACE COURSE, TON 1579000000-E SP ASPHALT BINDER FOR PLANT MIX 70 TON 2253000000-E 840 PIPE COLLARS 11 CY 2549000000-E 846 2'-6" CONCRETE CURB & GUTTER 600 LF 2591000000-E 848 4" CONCRETE SIDEWALK 300 SY 2655000000-E 852 5" MONOLITHIC CONCRETE ISLANDS 110 KEYEO IN) 2759000000-N SP GENERIC PAVING ITEM CONCRETE CURB RAMPS 1 2800000000-N 862 ADDITIONAL GUARDRAIL POSTS 5 EA 3215000000-N 862 ADDITIONAL GUARDRAIL POSTS 5 EA 3215000000-N SP GUARDRAIL ANCHOR UNITS, TYPE 4 EA 327000000-N SP GUARDRAIL ANCHOR UNITS, TYPE 4 EA 327000000-N SP GUARDRAIL ANCHOR UNITS, TYPE 4 EA 353000000-E 866 CHAIN LINK FENCE, *** FABRIC 300	1330000000-E 607 INCIDENTAL MILLING 380 SY 18.00 1491000000-E 610 ASPHALT CONC BASE COURSE, TYPE 260 TON 250 OTON 250 O

Page: 3 of 9

			Contract Item Sheets For C20		TI24 D2.3	Amount
Line #	ItemNumber	Sec #	Description	Quantity Unit	Unit Bid Price	Amount Bid
					445.00	2 875 00
0037	353900000-E	866	LINK FENCE (120")	25 EA	115.00	2,875.00
0038	3545000000-E	866	CHAIN LINK FENCE (120")	5 EA	225.00	1,125.00
0039	3628000000-E		RIP RAP, CLASS I	43 TON	50.00	2,150.00
0040	3656000000-E			1,149 SY	2.00	2,298.00
0041	4072000000-E	903	SUPPORTS, 3-LB STEEL U-CHANNEL	97 LF	5.74	
0042			SIGN ERECTION, TYPE E	12 EA	65.99	791.88
0043	4155000000-N	907	DISPOSAL OF SIGN SYSTEM, U- CHANNEL	13 EA	5.08	66.04
0044			WORK ZONE SIGNS (STATIONARY)	853 SF	3.95	3,369.35
 0045	4405000000-E		WORK ZONE SIGNS (PORTABLE)	514 SF	8.98	4,615.72
0046	4410000000-E	1110	WORK ZONE SIGNS (BARRICADE MOUNTED)	44 SF	5.94	261.36
	4415000000-N	1115	FLASHING ARROW PANELS, TYPE C	4 EA		8,060.92
0048	442000000-N	1120	CHANGEABLE MESSAGE SIGN	4 FA	10,131.98	40,527.92
	443000000-N	1130		105 EA	46.70	4,903.50
0050	4435000000-N	1135		64 EA		1,029.76
	4445000000-E	1145	BARRICADES (TYPE III)	80 LF	18.07	1,445.60
0052	445000000-N		FLAGGER	56 HR 		1,400.00
			TEMPORARY CRASH CUSHIONS			
0054	447000000-N	1160	RESET TEMPORARY CRASH CUSHIONS	EA	2,263.96	
0055	448000000-N	1165	TMIA	4 EA	15,025.38	

Page: 4 of 9

			Contract Item Sheets For C202		Unit Bid	Amount
Line #	ItemNumber	Sec #	Description	Quantity Unit	Price	Bid
0056	448500000-E	1170	PORTABLE CONCRETE BARRIER	940 LF	25.51	23,979.40
0057	449000000-E	1170	PORTABLE CONCRETE BARRIER (ANCHORED)	700 LF	35.61	24,927.00
 0058	4495000000-E	1170	PORTABLE CONCRETE BARRIER (DRAINAGE)	180 LF	25.51	4,591.80
 0059	4500000000-E	1170	RESET PORTABLE CONCRETE BAR- RIER	760 LF		11,514.00
 0060	4506000000-E	1170	RESET PORTABLE CONCRETE BAR- RIER (DRAINAGE)	180 LF	15.15	
 0061	4510000000-N	SP	LAW ENFORCEMENT	180 HR	35.00	
0062	4516000000-N	1180	SKINNY DRUM	64 EA	29.44	1,884.16
0063	4685000000-E	1205	THERMOPLASTIC PAVEMENT MARKING LINES (4", 90 MILS)	341 LF	1.00	341.00
 0064	468600000-E	1205	THERMOPLASTIC PAVEMENT MARKING LINES (4", 120 MILS)	3,152 LF	1.10	3,467.20
 0065	4695000000-E	1205	THERMOPLASTIC PAVEMENT MARKING LINES (8", 90 MILS)	95 LF	3.50	332.50
 0066	4725000000-E	1205	THERMOPLASTIC PAVEMENT MARKING SYMBOL (90 MILS)	8 EA	220.00	1,760.00
 0067	4770000000-E	1205	COLD APPLIED PLASTIC PAVEMENT MARKING LINES, TYPE ** (4") (III)	690 LF	2.00	1,380.00
0068	477000000-E	1205	COLD APPLIED PLASTIC PAVEMENT MARKING LINES, TYPE ** (4") (IV)	1,323 LF	2.25	
0069	481000000-E	1205	PAINT PAVEMENT MARKING LINES (4")	29,984 LF	0.20	5,996.80
 0070	4820000000-E	1205	PAINT PAVEMENT MARKING LINES (8")	432 LF	0.50	216.00
0071	4835000000-E	1205	PAINT PAVEMENT MARKING LINES (24")	340 LF	3.00	1,020.00

Page: 5 of 9

ouii c	Contract Item Sheets For C202724								
Line #	ItemNumber	Sec #	Description	Quantity Unit	Unit Bid Price	Amount Bid			
0072	484000000-N	1205	PAINT PAVEMENT MARKING CHARACTER	24 EA	65.00	1,560.00			
0073	4845000000-N	1205	PAINT PAVEMENT MARKING SYMBOL	104 EA	65.00	6,760.00			
0074	4850000000-E	1205	REMOVAL OF PAVEMENT MARKING LINES (4")	11,762 LF	0.85	9,997.70			
 0075	486000000-E	1205	REMOVAL OF PAVEMENT MARKING LINES (8")	633 LF	2.00	1,266.00			
 0076	4875000000-N	1205	REMOVAL OF PAVEMENT MARKING SYMBOLS & CHARACTERS	25 EA	50.00	1,250.00			
0077	490000000-N	1251	PERMANENT RAISED PAVEMENT MARKERS	472 EA	6.50	3,068.00			
0078	5255000000-N	1413	PORTABLE LIGHTING	Lump Sum LS	2,500.00				
0079	6000000000-E	1605	TEMPORARY SILT FENCE	3,370 LF	1.85	6,234.50			
0080	6006000000-E	1610	STONE FOR EROSION CONTROL, CLASS A	225 TON	41.00	9,225.00			
0081	6009000000-E	1610	STONE FOR EROSION CONTROL, CLASS B	380 TON	41.00	15,580.00			
			SEDIMENT CONTROL STONE	465 TON	41.00	19,065.00			
0083		1615	TEMPORARY MULCHING	5 ACR	750.00	3,750.00			
			SEED FOR TEMPORARY SEEDING	200 LB		700.00			
0085	6021000000-E	1620	FERTILIZER FOR TEMPORARY SEED-ING	1.75 TON	800.00	1,400.00			
	6024000000-E		TEMPORARY SLOPE DRAINS	800 LF	9.00	7,200.00			
0087	6027000000-N	1622	INLET PROTECTION AT TEMPORARY SLOPE DRAINS	10 EA	190.00	1,900.00			
0088	6029000000-E	SP	SAFETY FENCE	900 LF	1.50	1,350.00			
0089	6030000000-E		SILT EXCAVATION	440 CY	14.00				

Jan 31, 2012 1:58 pm

North Carolina Department Of Transportation Contract Item Sheets For C202724

Page: 6 of 9

		Contract Item Sheets For C20)2/24		
ItemNumber	Sec #	Description	Quantity Unit	Unit Bid Price	Amount Bid
6036000000-E	1631	MATTING FOR EROSION CONTROL	6,500 SY	1.42	9,230.00
6037000000-E	SP	COIR FIBER MAT	1,050 SY	2.75	2,887.50
6038000000-E	SP	PERMANENT SOIL REINFORCEMENT MAT	1,400 SY	4.15	5,810.00
6042000000-E	1632		300 LF	4.25	
6070000000-N	SP	SPECIAL STILLING BASINS	2 EA	500.00	1,000.00
6071010000-E	SP	WATTLE	100 LF	3.25	325.00
6071020000-E	SP	POLYACRYLAMIDE (PAM)	25 LB	9.00	225.00
6071030000-E	SP	COIR FIBER BAFFLE	240 LF	4.50	
6071050000-E	SP	**" SKIMMER (1-1/2")	1 EA	855.00	855.00
6084000000-E	1660	SEEDING & MULCHING	6 ACR	1,600.00	9,600.00
6087000000-E	1660	MOWING	0.5 ACR	100.00	50.00
6090000000-E	1661	SEED FOR REPAIR SEEDING	50 LB	5.00	250.00
6093000000-E	1661	FERTILIZER FOR REPAIR SEEDING	0.25 TON	1,000.00	250.00
6096000000-E	1662	SEED FOR SUPPLEMENTAL SEEDING	150 LB	2.00	300.00
6108000000-E	1665	FERTILIZER TOPDRESSING	4.5 TON	800.00	3,600.00
6114500000-N	SP	SPECIALIZED HAND MOWING	100 MHR	10.00	1,000.00
		RESPONSE FOR EROSION CONTROL	30 EA	150.00	
6123000000-E	1670	REFORESTATION	0.4 ACR	1,500.00	600.00
	6036000000-E 6037000000-E 6038000000-E 6042000000-E 6071010000-E 6071020000-E 6071050000-E 6084000000-E 6087000000-E 6093000000-E 6096000000-E 6114500000-N	# 6036000000-E 1631 6037000000-E SP 6038000000-E SP 6042000000-E 1632 6070000000-N SP 6071010000-E SP 6071030000-E SP 6071050000-E SP 6084000000-E SP 6084000000-E 1660 6087000000-E 1661 6093000000-E 1661 6096000000-E 1665 6114500000-N SP	Name	Name	Name

Jan 31, 2012 1:58 pm

North Carolina Department Of Transportation Contract Item Sheets For C202724

Page: 7 of 9

Line #	ItemNumber	Sec #	Description	Quantity Unit	Unit Bid Price	Amount Bid
0108	8802014000-E	SP	SOLDIER PILE RETAINING WALLS	1,595 SF	85.00	135,575.00

Page: 8 of 9

Contract Item Sheets For C202724 Line ItemNumber Sec Description Quantity Unit Bid Am						Amount
Line #	ItemNumber	Sec #	Description	Quantity Unit	Price	Bio
0109	8007000000-N	SP	CONSTRUCTION, MAINTENANCE, & REMOVAL OF TEMP STRUCTURE AT STA ********************************	Lump Sum LS	670,000.00	670,000.00
 0110	8035000000-N	402	REMOVAL OF EXISTING STRUCTURE AT STATION ************************************	Lump Sum LS	90,000.00	90,000.00
 0111	8112730000-N	SP	PDA TESTING	2 EA	2,500.00	5,000.00
0112	8112740000-N	SP	PDA ASSISTANCE	2 EA	550.00	1,100.00
 0113	8121000000-N	412	UNCLASSIFIED STRUCTURE EXCAVA- TION AT STATION ******** (18 + 55.00-L-)	Lump Sum LS	14,000.00	14,000.00
 0114	8147000000-E	420	REINFORCED CONCRETE DECK SLAB	20,181 SF	22.00	443,982.00
 0115	8161000000-E	420		16,345 SF	0.40	6,538.00
0116	8182000000-E	420	CLASS A CONCRETE (BRIDGE)	191.2 CY	900.00	172,080.00
 0117	821000000-N	422	BRIDGE APPROACH SLABS, STATION ************************************	Lump Sum LS	70,000.00	70,000.00
 0118			REINFORCING STEEL (BRIDGE)	27,590 LB	1.00	27,590.00
0119	8262000000-E	430	45" PRESTRESSED CONCRETE GIR- DERS	2,047.5 LF	220.00	450,450.00
 0120	8364000000-E	SP		1,210 LF	40.00	48,400.00
	8385200000-E			1,650 LF	165.00	
0122	839300000-N			30 EA	400.00	12,000.00
 0123	8608000000-E		RIP RAP CLASS II (2'-0" THICK)	485 TON	43.57	21,131.45
0124	8622000000-E	876	FILTER FABRIC FOR DRAINAGE	540 SY		1,620.00
0125	8657000000-N	430	ELASTOMERIC BEARINGS	Lump Sum LS	27,000.00	

Jan 31, 2012 1:58 pm

North Carolina Department Of Transportation Contract Item Sheets For C202724

Page	:	9	of	9
------	---	---	----	---

Line #	ltem N umber	Sec #	Description	Quantity Unit	Unit Bid Price	Amount Bid
0126	8692000000-N	SP	EVAZOTE JOINT SEALS	Lump Sum	13,000.00	13,000.00
 0127	886700000-E	 SP	GENERIC STRUCTURE ITEM CLASSIC CONCRETE BRIDGE RAIL	LS 462.17	120.00	55,460.40
			CLASSIC CONCRETE BRIDGE RAIL	LF		
			TOTAL AMOUNT OF BID FOR ENTIRE F	PROJECT		\$4,021,563.79

1358/Jan31/Q191902.27/D577400794000/E127

Countract No. ______County __Cumberland

Cumber rand

EXECUTION OF CONTRACT NON-COLLUSION AFFIDAVIT, DEBARMENT CERTIFICATION AND GIFT BAN CERTIFICATION

CORPORATION

The Contractor being duly sworn, solemnly swears (or affirms) that neither he, nor any official, agent or employee has entered into any agreement, participated in any collusion, or otherwise taken any action which is in restraint of free competitive bidding in connection with this Contract, that the Contractor has not been convicted of violating N.C.G.S. § 133-24 within the last three years, and that the Contractor intends to do the work with its own bonafide employees or subcontractors and did not bid for the benefit of another contractor.

By submitting this Execution of Contract, Non-Collusion Affidavit and Debarment Certification, the Contractor is certifying his status under penalty of perjury under the laws of the United States in accordance with the Debarment Certification attached, provided that the Debarment Certification also includes any required statements concerning exceptions that are applicable.

N.C.G.S. § 133-32 and Executive Order 24 prohibit the offer to, or acceptance by, any State Employee of any gift from anyone with a contract with the State, or from any person seeking to do business with the State. By execution of any response in this procurement, you attest, for your entire organization and its employees or agents, that you are not aware that any such gift has been offered, accepted, or promised by any employees of your organization.

SIGNATURE OF CO	NTRACTOR					
HRI, Inc. dba HRI Bridge Company						
Full name of Corporation						
1750 West College Avenue, State Colle	ge, PA 16801					
Address as Prequa	alified					
Attest Secretary Assistant Secretary By	President/Vice President/Assistant Vice President					
Select appropriate title	Select appropriate title					
Debra A. Keirn	Vont I Wihle					
Print or type Signer's name	Kent L. Wible Print or type Signer's name					
	CORPORATE SEAL					
AFFIDAVIT MUST BE	NOTARIZED					
Subscribed and sworn to before me this the						
8th day of <u>Jul</u> 20/2-						
Signature of Notary Public	NOTARY SEAL					
Signature of Notary Public						
of Certific County	COMMONWEALTH OF PENNSYLVANIA Notarial Seal					
State of PA	Kay M. Trostle, Notary Public Ferguson Twp., Centre County					
My Commission Expires: 4/2-1/2-	My Commission Expires April 22, 2012 Member, Pennsylvania Association of Notaries					

County Cumberland

DEBARMENT CERTIFICATION

Conditions for certification:

- 1. The prequalified bidder shall provide immediate written notice to the Department if at any time the bidder learns that his certification was erroneous when he submitted his debarment certification or explanation filed with the Department, or has become erroneous because of changed circumstances.
- 2. The terms covered transaction, debarred, suspended, ineligible, lower tier covered transaction, participant, person, primary covered transaction, principal, proposal, and voluntarily excluded, as used in this provision, have the meanings set out in the Definitions and Coverage sections of the rules implementing Executive Order 12549. A copy of the Federal Rules requiring this certification and detailing the definitions and coverages may be obtained from the Contract Officer of the Department.
- 3. The prequalified bidder agrees by submitting this form, that he will not knowingly enter into any lower tier covered transaction with a person who is debarred, suspended, declared ineligible, or voluntarily excluded from participation in NCDOT contracts, unless authorized by the Department.
- 4. For Federal Aid projects, the prequalified bidder further agrees that by submitting this form he will include the Federal-Aid Provision titled Required Contract Provisions Federal-Aid Construction Contract (Form FHWA PR 1273) provided by the Department, without subsequent modification, in all lower tier covered transactions.
- 5. The prequalified bidder may rely upon a certification of a participant in a lower tier covered transaction that he is not debarred, suspended, ineligible, or voluntarily excluded from the covered transaction, unless he knows that the certification is erroneous. The bidder may decide the method and frequency by which he will determine the eligibility of his subcontractors.
- 6. Nothing contained in the foregoing shall be construed to require establishment of a system of records in order to render in good faith the certification required by this provision. The knowledge and information of a participant is not required to exceed that which is normally possessed by a prudent person in the ordinary course of business dealings.
- 7. Except as authorized in paragraph 6 herein, the Department may terminate any contract if the bidder knowingly enters into a lower tier covered transaction with a person who is suspended, debarred, ineligible, or voluntarily excluded from participation in this transaction, in addition to other remedies available by the Federal Government.

DEBARMENT CERTIFICATION

The prequalified bidder certifies to the best of his knowledge and belief, that he and his principals:

- a. Are not presently debarred, suspended, proposed for debarment, declared ineligible, or voluntarily excluded from covered transactions by any Federal department or agency;
- b. Have not within a three-year period preceding this proposal been convicted of or had a civil judgment rendered against them for commission of fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a public (Federal, State or local) transaction or contract under a public transaction; violation of Federal or State antitrust statutes or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records; making false statements; or receiving stolen property;
- c. Are not presently indicted for or otherwise criminally or civilly charged by a governmental entity (Federal, State or local) with commission of any of the offenses enumerated in paragraph b. of this certification; and
- d. Have not within a three-year period preceding this proposal had one or more public transactions (Federal, State or local) terminated for cause or default.
- e. Will submit a revised Debarment Certification immediately if his status changes and will show in his bid proposal an explanation for the change in status.

If the prequalified bidder cannot certify that he is not debarred, he shall provide an explanation with this submittal. An explanation will not necessarily result in denial of participation in a contract.

Failure to submit a non-collusion affidavit and debarment certification will result in the prequalified bidder's bid being considered non-responsive.

Ш	Check here if an explanation is attached to this certification
---	--

Contract No C202724 County (ies): Cumberland **ACCEPTED BY THE** DEPARTMENT OF TRANSPORTATION Contract Officer **Execution of Contract and Bonds** Approved as to Form:

Attorney General

Contract No.

C202724	
Cumberland	

Rev 5-17-11

CONTRACT PAYMENT BOND

Date of Payment Bond Execution	February 6, 2012	
Name of Principal Contractor	HRI, Inc. dba HRI Bridge Company	
Name of Surety:	Liberty Mutual Insurance Company and the Fidelity	and
Name of Contracting Body:	Deposit Company of Maryland North Carolina Department of Transportation	
	Raleigh, North Carolina	
Amount of Bond:	\$4,021,563.79	
Contract ID No.:	C202724	
County Name:	Cumberland	

KNOW ALL MEN BY THESE PRESENTS, That we, the PRINCIPAL CONTRACTOR (hereafter, PRINCIPAL) and SURETY above named, are held and firmly bound unto the above named Contracting Body, hereinafter called the Contracting Body, in the penal sum of the amount stated above for the payment of which sum well and truly to be made, we bind ourselves, our heirs, executors, administrators, and successors, jointly and severally, firmly by these presents.

THE CONDITION OF THIS OBLIGATION IS SUCH, that whereas the principal entered into a certain contract with the Contracting Body, numbered as shown above and hereto attached:

NOW THEREFORE, if the principal shall promptly make payment to all persons supplying labor and material in the prosecution of the work provided for in said contract, and any and all duly authorized modifications of said contract that may hereafter be made, notice of which modifications to the surety being hereby waived, then this obligation to be void; otherwise to remain in full force and virtue.

IN WITNESS WHEREOF, the above-bound parties have executed this instrument under their several seals on the date indicated above, the name and corporate seal of each corporate party being hereto affixed and these presents duly signed by its undersigned representative, pursuant to authority of its governing body.

E202724	
Cumberland	

Rev 5-17-11

CONTRACT PAYMENT BOND

Affix Seal of Surety Company

Liberty Mutual Insurance Company and the Fidelity and Deposit Company of Maryland Print or type Surety Company Name

By Stacy Rivera

Print, stamp or type name of Attorney-in-Fact

Signature of Attorney-in-Fact

Janet Diaz

Print or type Signer's name

185 Asylum Street, 25th Floor Hartford, CT 06103

Address of Attorney-in-Fact

C20272	24
Cumbas	-land

Rev 5-17-11

CONTRACT PAYMENT BOND
CORPORATION
SIGNATURE OF CONTRACTOR (Principal)
HRI, Inc. dba HRI Bridge Company Full name of Corporation
1750 West College Avenue, State College, PA 16801 Address as prequalified
By Signature of President, Vice President Assistant Vice President Select appropriate title
Kent L. Wible Print or type Signer's name
Affix Corporate Seal

Attest

Signature of Secretary Select appropriate title

Debra A. Keirn

Print or type Signer's name

THIS POWER OF ATTORNEY IS NOT VALID UNLESS IT IS PRINTED ON RED BACKGROUND. 4807905 This Power of Attorney limits the acts of those named herein, and they have no authority to bind the Company except in the manner and to the extent herein stated.

LIBERTY MUTUAL INSURANCE COMPANY BOSTON, MASSACHUSETTS

0.7.0.	ALE PERSONS BY THE BY-law and Authorization hereinafter set forth, does hereby name, constitute and appoint JEANNETTE PORRINI, RIVERA, DANIELLE M. BECHARD, ELENA V. SANCHEZ, ALL OF THE CITY OF HARTFORD, STATE OF CONNECTICUT
behalf a	ndividually if there be more than one named, its true and lawful attorney-in-fact to make, execute, seal, acknowledge and deliver, for and o as surety and as its act and deed, any and all undertakings, bonds, recognizances and other surety obligations in the penal sum not excee NDRED MILLION AND 00/100*********************************
executiv	on of such undertakings, bonds, recognizances and other surety obligations, in pursuance of these presents, shall be as binding upon the Company in their own proper persons.
That thi	s power is made and executed pursuant to and by authority of the following By-law and Authorization:
	ARTICLE XIII - Execution of Contracts: Section 5. Surety Bonds and Undertakings. Any officer of the Company authorized for that purpose in writing by the chairman or the president, and subject to such limitations as chairman or the president may prescribe, shall appoint such attorneys-in-fact, as may be necessary to act in behalf of the Company to mexecute, seal, acknowledge and deliver as surety any and all undertakings, bonds, recognizances and other surety obligations. Such attornin-fact, subject to the limitations set forth in their respective powers of attorney, shall have full power to bind the Company by their signature execution of any such instruments and to attach thereto the seal of the Company. When so executed such instruments shall be as binding signed by the president and attested by the secretary.
By the	following instrument the chairman or the president has authorized the officer or other official named therein to appoint attorneys-in-fact:
	Pursuant to Article XIII, Section 5 of the By-Laws, David M. Carey, Assistant Secretary of Liberty Mutual Insurance Company, is hereby autho to appoint such attorneys-in-fact as may be necessary to act in behalf of the Company to make, execute, seal, acknowledge and deliver as any and all undertakings, bonds, recognizances and other surety obligations.
That the	e By-law and the Authorization set forth above are true copies thereof and are now in full force and effect.
IN WITI Mutual 201	NESS WHEREOF, this Power of Attorney has been subscribed by an authorized officer or official of the Company and the corporate seal of Li Insurance Company has been affixed thereto in Plymouth Meeting, Pennsylvania this day of day of August LIBERTY MUTUAL INSURANCE COMPANY
	David M. Carey, Assistant Secretary
	ONWEALTH OF PENNSYLVANIA ss TY OF MONTGOMERY
acknow the abo corpora	
IN TES first abo	TIMONY WHEREOF I have received on subscribed my name and affixed my notarial seal at Plymouth Meeting, Pennsylvania, on the day and ove written. Notarial Seal Teresa Pasiella, Notary Public Plymouth Twp., Montgomery County My Commission Expires Mar. 28, 2013 By Lucas Pastella
I, the un a full, to power	FICATE Indersigned, Assistant Contents of Notaries Teresa Pastella, Notary Public Teresa Past
This ce	rtificate and the above power of attorney may be signed by facsimile or mechanically reproduced signatures under and by authority of the folio the board of directors of Liberty Mutual Insurance Company at a meeting duly called and held on the 12th day of March, 1980.
vote of	VOTED that the facsimile or mechanically reproduced signature of any assistant secretary of the company, wherever appearing upon a cer
1	copy of any power of attorney issued by the company in connection with surety bonds, shall be valid and binding upon the company with
	copy of any power of attorney issued by the company in connection with surety bonds, shall be valid and binding upon the company with



LIBERTY MUTUAL INSURANCE COMPANY

FINANCIAL STATEMENT — DECEMBER 31, 2010

Assets	Liabilities	
Cash and Bank Deposits \$ 795,278,733	Unearned Premiums\$3,502,531,059	
*Bonds — U.S Government	Reserve for Claims and Claims Expense 15,450,806,243	
*Other Bonds	Funds Held Under Reinsurance Treaties 1,764,193,716	
	Reserve for Dividends to Policyholders	
*Stocks	Additional Statutory Reserve	
Real Estate	Reserve for Commissions, Taxes and	
Agents' Balances or Uncollected Premiums 2,971,477,549	Other Liabilities	
Accrued Interest and Rents	Total\$22,938,257,314	
Other Admitted Assets	Special Surplus Funds	
	Capital Stock	
	Paid in Surplus	
	Unassigned Surplus 4,802,898,559	
Total Admitted Assets <u>\$36,701,548,343</u>	Surplus to Policyholders <u>13,763,291,029</u>	
	Total Liabilities and Surplus <u>\$36,701,548,343</u>	



* Bonds are stated at amortized or investment value; Stocks at Association Market Values.

The foregoing financial information is taken from Liberty Mutual Insurance Company's financial statement filed with the state of Massachusetts Department of Insurance.

I, TIM MIKOLAJEWSKI, Assistant Secretary of Liberty Mutual Insurance Company, do hereby certify that the foregoing is a true, and correct statement of the Assets and Liabilities of said Corporation, as of December 31, 2010, to the best of my knowledge and belief.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed the seal of said Corporation at Seattle, Washington, this 29th day of March, 2011.

Assistant Secretary

TAMiholajewski.

Certificate of Insurance

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON YOU THE CERTIFICATE HOLDER. THIS CERTIFICATE IS NOT AN INSURANCE POLICY AND DOES NOT AMEND, EXTEND, OR ALTER THE COVERAGE AFFORDED BY THE POLICIES LISTED BELOW. POLICY LIMITS ARE NO LESS THAN THOSE LISTED, ALTHOUGH POLICIES MAY INCLUDE ADDITIONAL SUBLIMIT.LIMITS NOT LISTED BELOW.

This is to Certify that HRI Bridge Company

1750 West College Avenue

NAME AND **ADDRESS** OF INSURED



State College

PA 16801

is, at the issue date of this certificate, insured by the Company under the policy(ies) listed below. The insurance afforded by the listed policy(ies) is subject to all their terms, exclusions and

TYPE OF POLICY	EXP DATE CONTINUOUS EXTENDED POLICY TERM	POLICY NUMBER	LIMIT OF LIABILITY	
WORKERS COMPENSATION	4/1/2012	WC7-631-004125-681	COVERAGE AFFORDED UNDER WC	EMPLOYERS LIABILITY
COMPENSATION			NC, PA, SC, WV Bodily Injury by Access \$1,000,0	
				Bodily Injury By Disease
		}		\$1,000,000 Pelcy Lun
				Bodily Injury By Disease
				\$1,000,000 Each Person
COMMERCIAL GENERAL LIABILITY	4/1/2012	TB2-631-004125-691	General Aggregate \$2.	000,000
OCCURRENCE	į		Products : Completed Operations Aggregate	
_			\$2.	000.000
CLAIMS MADE			Each Occurrence \$2,000,000 Personal & Advertising Injur; \$2,000,000 Per Person: Organization	
	RETRO DATE			
			Other Includes Per Job Aggregate & "XCU" Conerages	ther Damages to Premises: \$100,00 and Medical Payments: \$10.00
AUTOMOBILE LIABILITY	4/1/2012	AS2-631-004125-701		Each Accident Single Limit 200 B.t. And P.D. Combined
☑ OWNED				Each Person
Non-owned			Each Accident or Occurrence	
HIRED			Fach Accident or Occurrence	
OTHER .				
DDITIONAL COMMENTS Con The General Liability and as "Additional Insured" as	stract No. C20272 Automobile Liabi s required by writt	4, Cumberland County lity Policies include the State en contract and allowed by I	e of North Carolina, Departmen aw with regards to all operation	t of Transportation, s of the named insured.

^{*} If the certificate expiration date is continuous or extended term, you will be notified if coverage is terminated or reduced before the certificate expiration date

NOTICE OF CANCELLATION: (NOT APPLICABLE UNLESS A NUMBER OF DAYS IS ENTERED BELOW.) BEFORE THE STATED EXPIRATION DATE THE COMPANY WILL NOT CANCEL OR REDUCE THE INSURANCE AFFORDED UNDER THE ABOVE POLICIES UNTIL AT LEAST 30 DAYS NOTICE OF SUCH CANCELLATION HAS BEEN MAILED TO:

Liberty Mutual Insurance Group

	<u></u>
	North Carolina Department of Transportation
er es	1020 Birch Ridge Road
Certificate Holder	Raleigh, NC 27610
_	

Geraldine Fernandez New York / 0202 114 West 47th St.

AUTHORIZED REPRESENTATIVE 2/6/2012 212-391-7500

New York NY 10036 OFFICE

DATE ISSUED PHONE

FIDELITY AND DEPOSIT COMPANY

OF MARYLAND 600 Red Brook Blvd., Suite 600, Owings Mills, MD 21117

Statement of Financial Condition As Of December 31, 2010

ASSETS

Bonds	\$	167,717,443 23.571.636
Cash and Short Term Investments		250.663
		•
Reinsurance Recoverable		478,827
Other Accounts Receivable	**********************	44,516,527
TOTAL ADMITTED ASSETS	\$ [°]	236,535,096
LIABILITIES, SURPLUS AND OTHER FUNDS	•	
Reserve for Taxes and Expenses		225,295 39 963.782
Ceded Reinsurance Premiums Payable		39,963,782
Ceded Reinsurance Premiums Payable Securities Lending Collateral Liability TOTAL LIABILITIES		39,963,782 3,077,700
Ceded Reinsurance Premiums Payable Securities Lending Collateral Liability TOTAL LIABILITIES		39,963,782 3,077,700
Ceded Reinsurance Premiums Payable Securities Lending Collateral Liability TOTAL LIABILITIES Capital Stock, Paid Up \$ Surplus	5,000,000 188,268,319	39,963,782 3,077,700
Ceded Reinsurance Premiums Payable Securities Lending Collateral Liability TOTAL LIABILITIES Capital Stock, Paid Up \$	5,000,000 188,268,319	39,963,782 3,077,700

Securities carried at \$45,648,865 in the above statement are deposited as required by law.

Securities carried on the basis prescribed by the National Association of Insurance Commissioners. On the basis of December 31, 2010 market quotations for all bonds and stocks owned, the Company's total admitted assets would be \$245,239,534 and surplus as regards policyholders \$201,972,757.

I, DENNIS F. KERRIGAN, Corporate Secretary of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, do hereby certify that the foregoing statement is a correct exhibit of the assets and liabilities of the said Company on the 31st day of December, 2010.

Corporate Secretary

State of Illinois
City of Schaumburg

SS:

Subscribed and sworn to, before me, a Notary Public of the State of Illinois, in the City of Scheumburg, this 31st day of March, 2011.

Notary Po

Notary Public

OFFICIAL SEAL DARRYL JOINER Notary Public - State of Illinois My Commission Expiras May 3, 2014

Power of Attorney FIDELITY AND DEPOSIT COMPANY OF MARYLAND COLONIAL AMERICAN CASUALTY AND SURETY COMPANY

KNOW ALL MEN BY THESE PRESENTS: That the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, corporations of the State of Maryland, by WILLIAM J. MILLS, Vice President, and GERALD F. HALEY, Assistant Secretary, in pursuance of authority granted by Article VI, Section 2, of the By-Laws of said Companies, which are set forth on the reverse sude hereof and are hereby certified to be in full force and effect on the date hereof, does hereby nominate, constitute and appoint Jeannette RORRINI and Stacy RIVERA, both of Hartford, Connecticut, EACH its true and lawful agent and attrovery-in-Fact, to make, execute, seal and deliver, for, and on its behalf as surety, and as respect and deed: any and all bonds and undertakings, and the execution of such bonds or undertakings in pursuance of these presents, shall be as binding upon said Companies, as fully and amply, to all integrated purposes, as if they had been duly executed and acknowledged by the regularly elected officers of the Company at its office in Battinders, and in their own proper persons. This power of attorney revokes that issued on behalf of Jeannette PORRINIE stand PWERA, detect August 6, 2004 behalf of Jeannette PORRINI, Stacy RIVERA, dated August 6, 2004.

The said Assistant Secretary does hereby certify that the extract set forth on the reverse side hereof is a true copy of Article VI, Section 2, of the By-Laws of said Companies, and is now in force.

IN WITNESS WHEREOF, the said Vice-President and Assistant Secretary have hereunto subscribed their names and affixed the Corporate Seals of the said FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, this 29th day of December, A.D. 2009.

ATTEST:

FIDELITY AND DEPOSIT COMPANY OF MARYLAND **COLONIAL AMERICAN CASUALTY AND SURETY COMPANY**



Gerald F. Haley Assistant Secretary

William J. Mills

Vice President

State of Maryland City of Baltimore

On this 29th day of December, A.D. 2009, before the subscriber, a Notary Public of the State of Maryland, duly commissioned and qualified, came WILLIAM J. MILLS, Vice President, and GERALD F. HALEY, Assistant Secretary of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, to me personally known to be the individuals and officers described in and who executed the preceding instrument, and they each acknowledged the execution of the same, and being by me duly sworn, severally and each for himself deposeth and saith, that they are the said officers of the Companies aforesaid, and that the seals affixed to the preceding instrument is the Corporate Seals of said Companies, and that the said Corporate Seals and their signatures as such officers were duly affixed and subscribed to the said instrument by the authority and direction of the said Corporations.

Berald 7 Haley

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed my Official Seal the day and year first above written.

Constance A. Dunn

Notary Public

My Commission Expires: July 14, 2015

Constance a Dunn

EXTRACT FROM BY-LAWS OF FIDELITY AND DEPOSIT COMPANY OF MARYLAND

"Article VI, Section 2. The Chairman of the Board, or the President, or any Executive Vice-President, or any of the Senior Vice-Presidents or Vice-Presidents specially authorized so to do by the Board of Directors or by the Executive Committee, shall have power, by and with the concurrence of the Secretary or any one of the Assistant Secretaries, to appoint Resident Vice-Presidents, Assistant Vice-Presidents and Attorneys-in-Fact as the business of the Company may require, or to authorize any person or persons to execute on behalf of the Company any bonds, undertaking, recognizances, stipulations, policies, contracts, agreements, deeds, and releases and assignments of judgements, decrees, mortgages and instruments in the nature of mortgages,...and to affix the seal of the Company thereto."

EXTRACT FROM BY-LAWS OF COLONIAL AMERICAN CASUALTY AND SURETY COMPANY

"Article VI, Section 2. The Chairman of the Board, or the President, or any Executive Vice-President, or any of the Senior Vice-Presidents or Vice-Presidents specially authorized so to do by the Board of Directors or by the Executive Committee, shall have power, by and with the concurrence of the Secretary or any one of the Assistant Secretaries, to appoint Resident Vice-Presidents, Assistant Vice-Presidents and Attorneys-in-Fact as the business of the Company may require, or to authorize any person or persons to execute on behalf of the Company any bonds, undertaking, recognizances, stipulations, policies, contracts, agreements, deeds, and releases and assignments of judgements, decrees, mortgages and instruments in the nature of mortgages,...and to affix the seal of the Company thereto."

CERTIFICATE

I, the undersigned, Assistant Secretary of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, do hereby certify that the foregoing Power of Attorney is still in full force and effect on the date of this certificate; and I do further certify that the Vice-President who executed the said Power of Attorney was one of the additional Vice-Presidents specially authorized by the Board of Directors to appoint any Attorney-in-Fact as provided in Article VI, Section 2, of the respective By-Laws of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY.

This Power of Attorney and Certificate may be signed by facsimile under and by authority of the following resolution of the Board of Directors of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND at a meeting duly called and held on the 10th day of May, 1990 and of the Board of Directors of the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY at a meeting duly called and held on the 5th day of May, 1994.

RESOLVED: "That the facsimile or mechanically reproduced seal of the company and facsimile or mechanically reproduced signature of any Vice-President, Secretary, or Assistant Secretary of the Company, whether made heretofore or hereafter, wherever appearing upon a certified copy of any power of attorney issued by the Company, shall be valid and binding upon the Company with the same force and effect as though manually affixed."

IN TESTIMONY WHEREOF, I have hereunto subscribed my name and affixed the corporate seals of the said Companies,

this 6th day of Glebnary, 2012.

Assistant Secretary

Que D. Bairf

Contract No.
County

C202724	
Cumberland	

Rev 5-17-11

CONTRACT PERFORMANCE BOND

Date of Performance Bond Execution:	February 6, 2012	
Name of Principal Contractor:	HRI, Inc. dba HRI Bridge Company	
Name of Surety:	Liberty Mutual Insurance Company and the Fidelity a	and
Name of Contracting Body:	Deposit Company of Maryland North Carolina Department of Transportation	
	Raleigh, North Carolina	
Amount of Bond:	\$4,021,563.79	
Contract ID No.:	C202724	
County Name:	Cumberland	

KNOW ALL MEN BY THESE PRESENTS, That we, the PRINCIPAL CONTRACTOR (hereafter, PRINCIPAL) and SURETY above named, are held and firmly bound unto the above named Contracting Body, hereinafter called the Contracting Body, in the penal sum of the amount stated above for the payment of which sum well and truly to be made, we bind ourselves, our heirs, executors, administrators, and successors, jointly and severally, firmly by these presents.

THE CONDITION OF THIS OBLIGATION IS SUCH, that whereas the principal entered into a certain contract with the Contracting Body, numbered as shown above and hereto attached:

NOW THEREFORE, if the principal shall well and truly perform and fulfill all the undertakings, covenants, terms, conditions, and agreements of said contract during the original term of said contract and any extensions thereof that may be granted by the Contracting Body, with or without notice to the Surety, and during the life of any guaranty required under the contract, and shall also well and truly perform and fulfill all the undertakings, covenants, terms, conditions, and agreements of any and all duly authorized modifications of said contract that may hereafter be made, notice of which modifications to the surety being hereby waived, then this obligation to be void; otherwise to remain in full force and virtue.

IN WITNESS WHEREOF, the above-bound parties have executed this instrument under their several seals on the date indicated above, the name and corporate seal of each corporate party being hereto affixed and these presents duly signed by its undersigned representative, pursuant to authority of its governing body.

C2027	24	
Cumba	mland	

Rev 5-17-11

CONTRACT PERFORMANCE BOND

Affix Seal of Surety Company

Liberty Mutual Insurance Company and the Fidelity and Deposit Company of Maryland Print or type Surety Company Name

By Stacy Rivera

Print, stamp or type name of Attorney-in-Fact

Signature of Attorney-in-Fact

Janet Diaz

Print or type Signer's name

Witness

185 Asylum Street, 25th Floor Hartford, CT 06103

Address of Attorney-in-Fact

CONTRACT PERFORMANCE BOND

CORPORATION
SIGNATURE OF CONTRACTOR (Principal)
HRI Inc. dba HRI Bridge Company
Full name of Corporation
1750 West College Avenue, State College, PA 16801
Address as prequalified
By Signature of President, Vice President, Assistant Vice President Select appropriate title
Kent L. Wible
Print or type Signer's name

Affix Corporate Seal

Attest

Signature of Secretary, Assistant Secretary
Select appropriate title

Debra A. Keirn

Print or type Signer's name

This Power of Attorney limits the acts of those named herein, and they have no authority to bind the Company except in the manner and to the extent herein stated.

LIBERTY MUTUAL INSURANCE COMPANY **BOSTON, MASSACHUSETTS**

- PRINCELL IN CITY OF GUILDILLA OF THE DA-18		e Company (the "Company"), a Massachusetts n, does hereby name, constitute and appoint JE	
		F HARTFORD, STATE OF CONNECTICUT	

behalf as surety and as its act and dee ONE HUNDRED MILLION AND 00/100********	d, any and all undertakings, bonds, reco	y-in-fact to make, execute, seal, acknowledge ognizances and other surety obligations in the DOLLARS (\$ 100,000,000.00**************************	penal sum not exceed
		ns, in pursuance of these presents, shall be as b f the Company in their own proper persons.	oinding upon the Comp
That this power is made and executed p	ursuant to and by authority of the followi	ng By-law and Authorization:	
Any officer of the Company a chairman or the president ma execute, seal, acknowledge an in-fact, subject to the limitation	y prescribe, shall appoint such attorneys nd deliver as surety any and all undertakins set forth in their respective powers of a ents and to attach thereto the seal of the	Undertakings. y the chairman or the president, and subject s-in-fact, as may be necessary to act in behalf ings, bonds, recognizances and other surety ob attorney, shall have full power to bind the Compe Company. When so executed such instrumen	of the Company to ma ligations. Such attorned any by their signature
By the following instrument the chairman	n or the president has authorized the offi	cer or other official named therein to appoint at	torneys-in-fact:
to appoint such attorneys-in-fa		tant Secretary of Liberty Mutual Insurance Com f the Company to make, execute, seal, acknowle pations.	
That the By-law and the Authorization se	et forth above are true copies thereof and	d are now in full force and effect.	
Mutual Insurance Company has been at		norized officer or official of the Company and the nsylvania this day of <u>26th</u> day of	e corporate seal of Libe August
2011	L. Wede	LIBERTY MUTUAL INSURANCE C	COMPANY
		By defand flang	
		David M. Carey, Assistant Secretary	
COMMONWEALTH OF PENNSYLVANIA COUNTY OF MONTGOMERY			
On this 26th day of Augu	ust 2011 before me. a	Notary Public, personally came <u>David M. C</u>	arev to me known a
acknowledged that he is an Assistant Se	ecretary of Liberty Mutual Insurance Con	mpany; that he knows the seal of said corporati surance Company thereto with the authority ar	ion; and that he execu
IN TESTIMONY WHEREOFT have have	unto subscribed my name and affixed m	ny notarial seal at Plymouth Meeting, Pennsylva	ania. on the day and y
first above written.	Notarial Seel		
	Teresa Pastella, Notary Public Plymouth Twp., Moritgomery Cou My Commission Expires Mar. 28, 2	1013 By William Tastella	
The Control of the Co	Member, Pennsylvania Association of t		
CERTIFICATE	Aberty Mutual Insurance Company, do	hereby certify that the original power of attorney	of which the foregoing
I, the undersigned, Assistant Secretary a full, true and correct copy, is in full force	e and effect on the date of this certificate ary specially authorized by the chairmar	n or the president to appoint attorneys-in-fact a	ial who executed the s
I, the undersigned, Assistant concerns a full, true and correct copy, is in full for power of attorney is an Assistant Secret Section 5 of the By-laws of Liberty Mutua. This certificate and the above power of all	e and effect on the date of this certificate ary specially authorized by the chairmar al Insurance Company. ttorney may be signed by facsimile or me		ial who executed the sas provided in Article) a authority of the follow

Gregory W. Davenport, Assistant Secretary

Power of Attorney FIDELITY AND DEPOSIT COMPANY OF MARYLAND COLONIAL AMERICAN CASUALTY AND SURETY COMPANY

KNOW ALL MEN BY THESE PRESENTS: That the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, corporations of the State of Maryland, by WILLIAM J. MILLS, Vice President, and GERALD F. HALEY, Assistant Secretary, in pursuance of authority granted by Article VI, Section 2, of the By-Laws of said Companies, which are set forth on the reverse sude hereof and are hereby certified to be in full force and effect on the date hereof, does hereby nominate, constitute and appoint seminette RORRINI and Stacy RIVERA, both of Hartford, Connecticut, EACH its me and deliver, for, and on its behalf as surety, and as respect and deed: any and all bonds and undertakings, and the execution of such bonds or undertakings in pursuance of these presents, shall be as binding upon said Companies, as fully and amply, to all intents and purposes, as if they had been duly executed and acknowledged by the regularly elected officers of the Company at its office in Battinders. Mid. in their own proper persons. This power of attorney revokes that issued on behalf of Leannette DORRING the Advance of the Apparents DORRING the Advance of the Company at its office in Battinders. Mid. in their own proper persons. behalf of Jeannette PORRINI, Stacy RIVERA, dated August 6, 2004.

The said Assistant Secretary does hereby certify that the extract set forth on the reverse side hereof is a true copy of Article VI, Section 2, of the By-Laws of said Companies, and is now in force.

IN WITNESS WHEREOF, the said Vice-President and Assistant Secretary have hereunto subscribed their names and affixed the Corporate Seals of the said FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, this 29th day of December, A.D. 2009.

ATTEST:

FIDELITY AND DEPOSIT COMPANY OF MARYLAND **COLONIAL AMERICAN CASUALTY AND SURETY COMPANY**



Gerald F. Haley Assistant Secretary

William J. Mills

Vice President

State of Maryland City of Baltimore

On this 29th day of December, A.D. 2009, before the subscriber, a Notary Public of the State of Maryland, duly commissioned and qualified, came WILLIAM J. MILLS, Vice President, and GERALD F. HALEY, Assistant Secretary of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, to me personally known to be the individuals and officers described in and who executed the preceding instrument, and they each acknowledged the execution of the same, and being by me duly sworn, severally and each for himself deposeth and saith, that they are the said officers of the Companies aforesaid, and that the seals affixed to the preceding instrument is the Corporate Seals of said Companies, and that the said Corporate Seals and their signatures as such officers were duly affixed and subscribed to the said instrument by the authority and direction of the said Corporations.

Gerald 7. Haley

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed my Official Seal the day and year first above written.

Constance A. Dunn

Notary Public

My Commission Expires: July 14, 2015

Constance a Dunn

EXTRACT FROM BY-LAWS OF FIDELITY AND DEPOSIT COMPANY OF MARYLAND

"Article VI, Section 2. The Chairman of the Board, or the President, or any Executive Vice-President, or any of the Senior Vice-Presidents or Vice-Presidents specially authorized so to do by the Board of Directors or by the Executive Committee, shall have power, by and with the concurrence of the Secretary or any one of the Assistant Secretaries, to appoint Resident Vice-Presidents, Assistant Vice-Presidents and Attorneys-in-Fact as the business of the Company may require, or to authorize any person or persons to execute on behalf of the Company any bonds, undertaking, recognizances, stipulations, policies, contracts, agreements, deeds, and releases and assignments of judgements, decrees, mortgages and instruments in the nature of mortgages,...and to affix the seal of the Company thereto."

EXTRACT FROM BY-LAWS OF COLONIAL AMERICAN CASUALTY AND SURETY COMPANY

"Article VI, Section 2. The Chairman of the Board, or the President, or any Executive Vice-President, or any of the Senior Vice-Presidents or Vice-Presidents specially authorized so to do by the Board of Directors or by the Executive Committee, shall have power, by and with the concurrence of the Secretary or any one of the Assistant Secretaries, to appoint Resident Vice-Presidents, Assistant Vice-Presidents and Attorneys-in-Fact as the business of the Company may require, or to authorize any person or persons to execute on behalf of the Company any bonds, undertaking, recognizances, stipulations, policies, contracts, agreements, deeds, and releases and assignments of judgements, decrees, mortgages and instruments in the nature of mortgages,...and to affix the seal of the Company thereto."

CERTIFICATE

I, the undersigned, Assistant Secretary of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, do hereby certify that the foregoing Power of Attorney is still in full force and effect on the date of this certificate; and I do further certify that the Vice-President who executed the said Power of Attorney was one of the additional Vice-Presidents specially authorized by the Board of Directors to appoint any Attorney-in-Fact as provided in Article VI, Section 2, of the respective By-Laws of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, and the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY.

This Power of Attorney and Certificate may be signed by facsimile under and by authority of the following resolution of the Board of Directors of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND at a meeting duly called and held on the 10th day of May, 1990 and of the Board of Directors of the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY at a meeting duly called and held on the 5th day of May, 1994.

RESOLVED: "That the facsimile or mechanically reproduced seal of the company and facsimile or mechanically reproduced signature of any Vice-President, Secretary, or Assistant Secretary of the Company, whether made heretofore or hereafter, wherever appearing upon a certified copy of any power of attorney issued by the Company, shall be valid and binding upon the Company with the same force and effect as though manually affixed."

IN TESTIMONY WHEREOF, I have hereunto subscribed my name and affixed the corporate seals of the said Companies,

this 6th day of Glebruary, 2012.

Assistant Secretary

July D. Bairf